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Solve the system of equations by elimination.

Equations must be in standard form

You can cancel the y and combine
2y and -2y cancel out
Solve the equation for x

-4(-10) + 2y = -8 To find y, plug in -10 to an equation
40 +2y = -8 Multiply -4 and -10
2y = -48 Move the 40 across

=221 Divide by 2
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Solve the system of equations by elimination.

Sy+x=-14
9x - 30 = -3y
x+5y=-14
-9x + 3y = 30 Put both equations in standard form

3)( +45y = -126 Multiply the first equation by 9
-9%+ 3y=30 Leave the second equation alone
8y = -96 9x and -9x cancel out
kx 48 Solve fory

5(-2)+x = -14 To find x, plug -2 into an equation
-10+x=-14 Multiply 5 and -2
Move the -10 across
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Solve the system of equations by elimination.

6y = 12x - 27
8x-4y=18
-12x + 6y = -27
8x -4y =18 Put both equations in standard form
-86x +¥48y = -2 Multiply the first equation by 8
90k - 48y = 246 Multiply the second equation by 12
0=0 All values cancel.

Infinite Solutions
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Solve the system of equations by elimination.
10x + by = 20
6x +3y=-15 Both equations are in standard form.

x + 30y =120  Multiply by 6
-60X - =150 Multiply by -10 to get -60
0=270 xandy cancel out

No Solution




